




Real Champs-



H invested a total sum of 4000rs in two different schemes M and N. Scheme M

gives CI at 15% rate of interest compounded annually and Scheme N gives SI at

25% rate of interest p.a. If CI received from scheme M after 2 years is 64.5% of SI

received from scheme N after 3 years, then find the ratio of amount invested in

scheme M and N respectively?

1. 7:3
2. 7:2
3. 1:1
4. 3:2
5. 1:5

H ने दो अलग-अलग योजनाओं M और N में कुल 4000 रुपये की राशि का शनवेि ककया है। योजना M 
वार्षिक रूप से संयोजजत ब्याज की 15% दर पर CI देती है और योजना N 25% ब्याज दर प्रशत वषि पर SI 
देती है। यकद 2 वषों के बाद योजना M से प्राप्त CI, 3 वषों के बाद योजना N से प्राप्त साधारण ब्याज का 
64.5% है, तो क्रमिः योजना M और N में शनवेि की गई राशि का अनुपात ज्ञात कीजजये?



A and B can fill a tank in 12 hours and 20 hours respectively while Pipe C can empty

it in 15 hours. They all are opened together. After 5 hours, efficiency of A and B are

increased by 20% and 100% respectively and efficiency of C is decreased by 50%.

Find the total time taken to fill the tank if it is completely empty in the start?

1. 6 hours
2. 7 hours
3. 8 hours
4. 9 hours
5. 10 hours

A और B एक टंकी को क्रमिः 12 घंटे और 20 घंटे में भर सकते हैं जबकक पाइप C इसे 15 घंटे में खाली 
कर सकता है। वे सभी एक साथ खोले गए हैं। 5 घंटे के बाद, A और B की दक्षता में क्रमिः 20% और 
100% की वरृ्ि होती है और C की दक्षता में 50% की कमी होती है। यकद टंकी प्रारंभ में पूरी तरह से 
खाली है, तो उसे भरने में लगने वाला कुल समय ज्ञात कीजजये?



The value of m for which one of the root of x2 - 3x + 2m = 0 is double of the root

of x2 - x + m = 0 is ?

1. 0, -2
2. 0, 1
3. NOT
4. 2, 0
5. 0, 3

m का मान x2 - 3x + 2m = 0 के ककस एक मूल के शलए x2 - x + m = 0 के मूल का दोगुना है?



A car starts travels from P and reaches Q in 10 hours. The distance between P and

Q is 480 km. If it travels 45% of the distance at a speed of 60% of the usual speed,

75% of the remaining distance at a speed of 60% of the usual speed, and the

remaining distance at a speed of 60% of the usual speed, then find the usual speed of

the car?

1. 20kmph
2. 40kmph
3. 60kmph
4. 80kmph
5. 10kmph

एक कार P से यात्रा िुरू करती है और Q तक 10 घंटे में पहुुँचती है। P और Q के बीच की दरूी 480 ककमी 
है। यकद यह सामान्य गशत के 60% की गशत से दरूी का 45%, िेष दरूी का 75% सामान्य गशत के 60% 
की गशत से और िेष दरूी सामान्य गशत के 60% की गशत से तय करती है, तो कार की सामान्य गशत 
ज्ञात कीजजए।



The data given below shows the total number of insurance policies (Health + Home

+ Education) sold by 4 different insurance companies 'A', 'B', 'C', and 'D'. Some of

the data is given while some of the data is unknown.

The total number of insurance policies sold by company 'A' is 100 more than that of

company 'B'. The number of 'health' insurance policies sold by company 'A' is 50%

of the total number of insurance policies sold by the same company. The total

number of insurance policies sold by company 'B' is 200 less than that of company

'D'. The number of 'education' insurance policies sold by company 'B' is 25% of the

total number of insurance policies sold by the same company. The number of

'education' insurance policies and 'home' insurance policies sold by company 'A'

and company 'B' is 50 and 150 respectively. The average number of total insurance

policies sold by companies 'A', 'B', and 'D' is 500. The number of 'education'

insurance policies sold by company 'D' is 66.66% of the total number of insurance

policies sold by the same company. The number of 'health' and 'home' insurance

policies sold by company 'C' is 300 and 200 respectively.



नीचे कदया गया डेटा 4 अलग-अलग बीमा कंपशनयों 'ए', 'बी', 'सी' और 'डी' द्वारा
बेची गई बीमा पॉशलशसयों (स्वास््य + गहृ + शिक्षा) की कुल संख्या दिािता है।
कुछ डेटा कदया गया है जबकक कुछ डेटा अज्ञात है।
कंपनी 'ए' द्वारा बेची गई बीमा पॉशलशसयों की कुल संख्या कंपनी 'बी' की तलुना
में 100 अशधक है। कंपनी 'ए' द्वारा बेची गई 'स्वास््य' बीमा पॉशलशसयों की
संख्या उसी कंपनी द्वारा बेची गई बीमा पॉशलशसयों की कुल संख्या का 50% है।
कंपनी 'बी' द्वारा बेची गई बीमा पॉशलशसयों की कुल संख्या कंपनी 'डी' की तलुना
में 200 कम है। कंपनी 'बी' द्वारा बेची गई 'शिक्षा' बीमा पॉशलशसयों की संख्या
उसी कंपनी द्वारा बेची गई बीमा पॉशलशसयों की कुल संख्या का 25% है। कंपनी
'ए' और कंपनी 'बी' द्वारा बेची गई 'शिक्षा' बीमा पॉशलशसयों और 'होम' बीमा
पॉशलशसयों की संख्या क्रमि: 50 और 150 है। कंपशनयों 'ए', 'बी' और 'डी' द्वारा
बेची गई कुल बीमा पॉशलशसयों की औसत संख्या 500 है। कंपनी 'डी' द्वारा बेची
गई 'शिक्षा' बीमा पॉशलशसयों की संख्या बेची गई बीमा पॉशलशसयों की कुल संख्या
का 66.66% है। उसी कंपनी द्वारा। कंपनी 'सी' द्वारा बेची गई 'स्वास््य' और
'गहृ' बीमा पॉशलशसयों की संख्या क्रमिः 300 और 200 है।



The total number of insurance policies sold by company

'A' is 100 more than that of company 'B'. The number

of 'health' insurance policies sold by company 'A' is

50% of the total number of insurance policies sold by

the same company. The total number of insurance

policies sold by company 'B' is 200 less than that of

company 'D'. The number of 'education' insurance

policies sold by company 'B' is 25% of the total number

of insurance policies sold by the same company. The

number of 'education' insurance policies and 'home'

insurance policies sold by company 'A' and company 'B'

is 50 and 150 respectively. The average number of total

insurance policies sold by companies 'A', 'B', and 'D' is

500. The number of 'education' insurance policies sold

by company 'D' is 66.66% of the total number of

insurance policies sold by the same company. The

number of 'health' and 'home' insurance policies sold

by company 'C' is 300 and 200 respectively.



If the number of 'health' insurance policies sold by company 'C' is 50% of the

total number of insurance policies sold by the same company then find the sum

of the number of 'home' and 'education' policies sold by company 'C'?

1. 100
2. 150
3. 200
4. 250
5. 300

Insurance Health Home
educatio

n
Insuranc

e 

A 250 200 50 500

B 150 150 100 400

C 300 200 --- ---

D --- --- 400 600

यकद कंपनी 'C' द्वारा बेची गई 'स्वास््य' बीमा पॉशलशसयों की संख्या उसी कंपनी द्वारा बेची गई बीमा 
पॉशलशसयों की कुल संख्या का 50% है, तो कंपनी 'C' द्वारा बेची गई 'घर' और 'शिक्षा' पॉशलशसयों की 
संख्या का योग ज्ञात कीजजये?



If the ratio of the number of 'health' and 'home' insurance policies sold by

company 'D' is 3 : 2 respectively, then find the total number of 'home' and

'education' policies sold by company 'D'?

1. 350
2. 380
3. 450
4. 480
5. 520

Insurance Health Home
educatio

n
Insuranc

e 

A 250 200 50 500

B 150 150 100 400

C 300 200 --- ---

D --- --- 400 600

यकद कंपनी 'D' द्वारा बेची गई 'स्वास््य' और 'घर' बीमा पॉशलशसयों की संख्या का अनुपात क्रमिः 3 : 
2 है, तो कंपनी 'D' द्वारा बेची गई 'घर' और 'शिक्षा' पॉशलशसयों की कुल संख्या ज्ञात कीजजये?



If the number of 'home' insurance policies sold by another company 'E' is 40%

more than that of company 'A', then find the number of 'home' insurance

policies sold by company 'E'?

1. 140
2. 180
3. 280
4. 300
5. 350

Insurance Health Home
educatio

n
Insuranc

e 

A 250 200 50 500

B 150 150 100 400

C 300 200 --- ---

D --- --- 400 600

यकद ककसी अन्य कंपनी 'E' द्वारा बेची गई 'होम' बीमा पॉशलशसयों की संख्या कंपनी 'A' की तुलना में 
40% अशधक है, तो कंपनी 'E' द्वारा बेची गई 'होम' बीमा पॉशलशसयों की संख्या ज्ञात कीजजये?



If the number of 'motor' insurance policies sold by company 'X' is 25% more than

the total number of 'health' insurance policies sold by company 'A' and 'B' together,

then find the number of 'motor' insurance policies sold by company 'X'?

1. 250
2. 300
3. 400
4. 450
5. 500

Insurance Health Home
educatio

n
Insuranc

e 

A 250 200 50 500

B 150 150 100 400

C 300 200 --- ---

D --- --- 400 600

यकद कंपनी 'X' द्वारा बेची गई 'मोटर' बीमा पॉशलशसयों की संख्या कंपनी 'A' और 'B' द्वारा बेची गई 
'स्वास््य' बीमा पॉशलशसयों की कुल संख्या से 25% अशधक है, तो कंपनी 'X' द्वारा बेची गई 'मोटर' बीमा 
पॉशलशसयों की संख्या ज्ञात कीजजये?



If the number of 'home' insurance policies sold by company 'C' is 33.33% of the

total number of insurance policies sold by the same shop then find the average

number of insurance policies sold by all the companies together?

1. 225
2. 325
3. 425
4. 525
5. 625

Insurance Health Home
educatio

n
Insuranc

e 

A 250 200 50 500

B 150 150 100 400

C 300 200 --- ---

D --- --- 400 600

यकद कंपनी 'C' द्वारा बेची गई 'होम' बीमा पॉशलशसयों की संख्या उसी दकुान द्वारा बेची गई बीमा 
पॉशलशसयों की कुल संख्या का 33.33% है, तो सभी कंपशनयों द्वारा बेची गई बीमा पॉशलशसयों की 
औसत संख्या ज्ञात कीजजये?



V attempted yearly exams in his school, which included exams of five subjects - English,

Hindi, Maths, History, and Science. It is known that every exam was of 100 marks. V

scored a total of 81% marks in the yearly exams. He scored a total of 90 marks in English.

His maths' score was (2/3)rd the marks in English, and he scored (5/6)th of the marks he

scored in English in his Hindi Exam. Also, the difference between the marks in History and

Science is 10, where he scored more in Science. Find out the average of marks in Science

and History, scored by V?

1. 65
2. 90
3. 70
4. 85
5. 95

V ने अपने स्कूल में वार्षिक परीक्षा दी, जजसमें पाुँच र्वषयों की परीक्षाएुँ िाशमल थीं - अंगे्रजी, कहंदी, 
गजणत, इशतहास और र्वज्ञान। मालूम हो कक हर परीक्षा 100 अंकों की होती थी। V ने वार्षिक परीक्षा में 
कुल 81% अंक प्राप्त ककए। उसने अंगे्रजी में कुल 90 अंक हाशसल ककए। उनका गजणत का अंक अंगे्रजी में 
(2/3) अंक था, और उन्होंने अपनी कहंदी परीक्षा में अंगे्रजी में प्राप्त अंकों का (5/6) अंक प्राप्त ककया। 
साथ ही, इशतहास और र्वज्ञान में अंकों के बीच का अंतर 10 है, जहां उसने र्वज्ञान में अशधक अंक प्राप्त 
ककए। र्वज्ञान और इशतहास में V द्वारा प्राप्त अंकों का औसत ज्ञात कीजजये?


